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    Let W=X+Y, T=X/(X+Y), show that
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3、 W⊥T.
2、 Let X be a r.v. distributed as P(θ), and let the prior p.d.f. λ ofθ be Negative Exponential with parameter τ. Then, on the basis of X:

1. Determine the posterior p.d.f. h(θ∣x) ;
2. Derive the Bayes estimates δ(x) for the loss functions 
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3. Do parts 1 and 2 for any sample size n.

3、 Let X be an r.v. whose p.d.f. is euther the U(0,1) p.d.f. denoted by 
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 or the Triangular p.d.f. over [0,1] interval, denoted by 
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 and 0 otherwise). On the basis of one observation on X, construct the MP test of the hypothesis 
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    Let W=X+Y, T=X/(X+Y), show that
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iii. W⊥T.
五、A sample of size 1 is taken from the p.d.f. 
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    Let 
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1. Find the most powerful level α=0.05 test for testing 
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. Calculate its power.

2. Write out the test in part 1. for the case where 
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